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Note :
(i)  All questions in both the s
(i)  Marks for questions are against each.

(i) Questions Nol and 18are short-answer questions carryihgnark for each
part. They are requ answered in one sentence each.

(iv) Questions N d $4-17are short-answer questions carryiBgmarks each.
Answers to théll shBuld normally not excé@dvords each.

(v) Question§ No6-9 and 18 -21 are also short-answer questions carrydhgrarks
*o them should normally not ex@@adords each.

0l0-12and 22-24are long-answer questions carryibgnarks each.
o them should normally not excé@d words each.

rs should be brief and to the point and the above word limits should be adhered
s far as possible.

All parts of a question should be answered at one place.

Time allowed : 3 hours & Maximum Marks: 100
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SECTIONA
= O
1. Answer the following questions : O 1x4
() Define marginal opportunity cost. TS
()  Whyis a production possibility curve concave ? @
(i  State two characteristics of resources which glve e tofn economic problem.

(v) Give two examples of microeconomic studie.
frfafad gei & T 4 -
() Hmid ST @NTT &0 iR i

(i) TAEA FYEAT Th FEAqA Rl
(i) wEEAr W A & s
(v) =Afte-amide stemaq & &

2. Give meaning of (i) dem
(i) =, (i) |

al good and (iii) inferior good.
] % 3 FarEy |
3. Explain the effect of utjprice changes’ on the supply of a good.

® I&g B Yfd W YN & ARAT BT |

between marginal revenue and average revenue.

dqad quiftd & 9 gETT 99eey |

e Total Cost, Average Variable Cost and Marginal Cost curves in a single
3
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For Blind Candidates only in lieu of Q. No5
Haq ghedq qdeniial & Mg 9 @ 5 @ WM W

When is supply of a commodity said to be (i) elastic, (ii) inelastic and (iii) perfectly
inelastic ?

&g N IR @ (i) AEER, (i) JAEEr 7 (ji) qeidar Sader w9 wEl A 6 2
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6. Price of a good rises from Rs. 10 per unit to Rs. 11 per unit. As a result quantity
demanded of that good falls by 10 percent. Calculate its price elasticity of demand.
OR

A consumer buys 70 units of a good at a price of Rs. 7 per unit. When price falls to Rs. 6 per
unit, he buys 90 units. Use Total Expenditure Method to find whether the demand for the good

is elastic or inelastic.
TF q% B BEA 10 T I HE T Ggh 11 6. I B & AT & | IRomEeEE
FEg @ AN 10 gfasd FR S &1 901 @ @a @ w aRead wifg |

gar
T ITHHT 7 B. Ul IHE W U 9% B 70 IHEAN GUadr & | T9
6 . Ui SHE & AT T, A 98 90 IHAl @ed T 1 Tg N B b & Bl
AT @EER & AT JAMEER, Hd G99 i SuamEy |

7. Give meanings of (i) marginal physical product, (ii) f if ||) variable cost, and

(iv) total revenue.

(i) drmia difaew Sare, (i) fer (sre) arm, (i) , 7T (iv) H/A FUT &

e FaET |
8. Calculate Marginal Cost and Total Cost f &)Ilowing Cost Schedule of a firm whose
Total Fixed Costs are Rs. 15 :

4

Output Total Vari
(Unit)
1
. |G
3 29
4 ¢ 40

AR 15 &. & IR STl AN Fggdl A &1 T8 © | qHid e
T BT -

HA AN
(5.)
1 10
2 19
3 29
4 40
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9. How is the equilibrium price of a good determined ? Explain with the help of diagram a
situation when both demand and supply curves shift to the right but equilibrium price
remains the same. 4

UF T B GJAT HEA H UROT HY BT & ¢ @A H FEEdr § Uh UE
T @ 2|

For Blind Candidates only in lieu of Q. No9
Haq ghedq qdeniial & Mg o @ 9 3@ WM W

Explain with the help of a schedule how equilibrium price of a good is determined.
UF qE] B QAT HEAT B TR BH BT © 2 TH gl W\'&‘ AT |

10. Explain the term ‘change in demand’ and represeril the e graphically. Also state
three factors responsible for ‘change in demand;

1 # ot 9T @ o wweEn @R feamzn | T A wE
A qAET S W § gRads & g 2l

lieu of Q. No10

For Blind Candid
Haa giedq gdeEnear U W& 10 & | W)

Explain the terms ‘change in d ‘change in quantity demanded’. Also state three
factors responsible for ‘charige i and'.

A § qRadd SR At 4 gRads W& & d9 d@ aueEu| ug de

FREH Al FART A ' SR L 0 A el B <

11. Distinguish betfizeen ‘retlirns to a factor’ and ‘returns to scale’. Explain briefly returns to
eﬁal examples 6

in briefly three features of monopolistic competition.
OR
Explain the features of monopoly.

THIRRRITE  IGAar & a9 a9 §  99ams |
Srgar
TR &l Qo awesy |
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SECTIONB
gvs 9

13. Answer the following questions :
() What is macroeconomics ?
()  Give two examples of macroeconomic studies.
(i) Whatis balance of trade ?

(v) Give meaning of balance of payments.

Frefofad S @ R AR - O

() wHfte srisme fhe ®ed & 2 ()

(i) wHfte-anfde oemmei & o I G|

L
(i) =R T R BT & @
(v) O ddad w1 FaEg | ()

14. Calculate Personal Disposable Income from{ﬁ%lg data :

(Rs. cpres)
() Personal taxes 60

() Netnational product at fac stagcruing to the private sector
(i)  Undistributed profits 10
(v) National debtintere+ 50
(v) Corporation tax@ 100
(vi) Netcurrenttrans om the rest of the world (—) 20
rsfrom government 30

q Jafthe AN AE R UREHA BT

(FHIZ %)
60
&9 ® W Al BRE ard W Had T8 Sd@R 600
SIECIEGIGIK T 10
(v) T8 %01 W AW 50
(v) Fm a= 100
V) v o & FEaa TSR s (—) 20
(Vi) THER | YSIR  sEiaeer 30
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15. In an economy, marginal propensity to save is 0.2. Investment increases by Rs. 100 crores.
Calculate total increase in national income. 3

UF e § dMid S9d Wgfa 0.2 @ SR faw 7 ghs 100 FOT B B 2|
T oM 29 arl da ghe aRefad @i

16. Give meanings of (i) cash reserve ratio, (ii) bank rate and (iii) open market operations.

(i) 7he Rt orqumd, (i) 9% < aor (i) g R o geaeT & oref aarey |

17. Distinguish between ‘visible trade’ and ‘invisible trade’ in balance of paymentg{Givig,on

example of each. 3
TAH AT § ‘T AN 3R S8 AWK & 9 Ad¥ Jaey | Iah
ISR T |
18. What is barter ? Explain the ‘unit of value’ function of money. 4
OR Y 3
What is money ? Explain the ‘store of value’ function g g
T 4w St g gE A gl @ qHEATEY |
S e

gm%waﬁm%?gmm‘lﬁrwx& Y |
r

19. Explain the ‘banker’s bank and supervj n of the central bank.

HET dF B GRU B g SR YT |
20. Distinguish between direct tax direct tax. Give two examples of each.
T H AN ITT B H ST 3 | Y% & I-al Saredvl iy |

21. Distinguish between and non-tax revenues and (ii) developmental and
S 4

22. come’ and ‘net national disposable income’ from the following data :

4, 2
(Rs. cores)
ent transfers from government 35
rivate final consumption expenditure 500
Net current transfers from the rest of the world (—) 10
(v) Government final consumption expenditure 150
(v) Netfactor income from abroad (—) 20
(vi) Netdomestic capital formation 100
(vi) Netindirect tax 120
(vit) Net exports 50

58/2/1 6



f=fafag oferst @ <@ o dur fHaa TS W S # URead hife:

(FIZ_%.)
() @HR ¥ TR s&aor 85
(i) T Sifow U =29 500
(i) U o & FEaa TS &R (—) 10
(v) TR Sffaw STHRT =g 150
(v) fadei | ™ad ®R% 3™ (—) 20
(Vi) faa I oo e 100 0

(vi) Ed s W 120 ()

(vii) faw ot 2
23. Explain the income method of estimating national incony&®

OR

Explain the distinction between ‘domestic product’ ‘pational product’ on the basis of
concepts of resident and domestic territory.

TS A 794 & g fafer g9emsu
Jgar

framdr i i a= @& [ BHITER W i SO @R T8E Sae
% 99 3fdY 9w’ |

24. Explain determinatio eq m level of income through the Savings - Investment
approach. Use dia at changes will take place when the economy is not
in equilibrium ? Expla 6

Faq-fdst % |fad X 1 TERET GHAET | W@ H GART AT |
T 9 & @ F IRaed AT § 7 qHAIET |

For Blind Candidates only in lieu of Q. No24
e whenRit & fiw @ 9@ 24 & W W

in determination of equilibrium level of income by the (i) Savings - Investment approach
d (ii) Aggregate demand - Aggregate supply approach. What changes will take place
when the economy is not in equilibrium ?

(i) Toa-tasr gftesmor q@r (i) TR0 90 - 99U MY SiehloT aRT A & |qiad
T H MuRer aueEe | A sffemeR §qad W 9 8 af dr URadd ofd & 7
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